
Diagram 2.

D

E

E

A

C

A
BC

Diagram 3.

Step 1. Lay the left panel (Part A) on a soft surface .

            Then  attach shelves ( Part C)by using screws 

            JCA 1/4" x 32(SC10003) and attach back crossbars 

            (Part E)into left panel (Part A )as per Diag.1.

            Make sure the tapered edge faces upward.

           BECAREFUL,DO NOT OVER TIGHTEN THE SCREWS.

Step 2. Attach right panel (Part B)into them by using 

            screws JCA 1/4" x 32(SC10003)as per Diag.2.

Step 3. Attach mantel top crossbars (Part F)into the

            mantel top (Part D)by using screws F6 x 1 1/4" 

            (SC10002)as per Diag.3.The side with larger hole

            should face away from the top.

LIST  OF  WOODEN  PARTS

LIST  OF  HARDWARE

NO

A

B

C

D

E

F

DESCRIPTION

LEFT  PANEL

RIGHT  PANEL

SHELVES

MANTEL  TOP

BACK  CROSSBARS

MANTEL TOP CROSSBARS

          SCREWS JCA 1/4" x 32

          SCREWS F6 x 1 1/4"

          WOOD  PLUGS

          HEXAGONAL  WRENCH

Q'TY

  1

  1

  4

  1

  4

  2

  20

    6

  20

    1 F

D

D

Diagram 4.

Step 4. Lift the mantel top and set it on top of 

            the bookcase. Fasten with screws

            JCA 1/4" x 32(SC10003).

A
B

C

E

WD40001

WD40001

TL40015

TL40015

SC10003

SC10003

SC10002

SC10002
SC10002

SC10003

SC10003

SC10003

Diagram 1.

Assembly Instruction sheet for Mission style 5 - tier shelf 

Missing or parts replacement please

Do not return this product to the store.

Normally there is no charge for parts


